cent Sumame Initial(s)
N:l e Paper Reference

bt Signature
s 318/0(/|2|F

Paper Reference(s)

1380/2F Essoriner’s use nly

Edexcel GCSE

Mathematics (Linear) — 1380
Paper 2 (Calculator)

Foundation Tier
Monday 5 March 2012 — Afternoon
Time: 1 hour 30 minutes

Materials required for examination  Items included with question papers

Ruler graduated in centimetres and Nil
millimetres, protractor, conpasses,

pen, HB pencil, eraser, calculator,

Tracing paper may be used.

Instructions to Candidates

In the boxes above, write your cenire number, candidate number, your surnane, initials and signature.
Check that you have the correct question paper.

Answer ALL the questions. Write your answers in the spaces provided in this question paper.

You must NOT write on the formulae page.

Anything you write on the formulae page will gain NO credit.

If you need more space to compleie your answer to any question, use additional answer sheets.

Information for Candidates

The marks for individual questions and the parts of questions are shown in round brackets: e.g. (2).
There are 25 questions in this question paper, The total mark for this paper is 100.

There are 20 pages in this question paper. Any blank pages are indicated.

Calculators may be used,

If your calculator does not have a © button, take the value of x to be 3.142 unless the question instructs
otherwise.

Adyvice to Candidates

Show all stages in any calculations.

Woik steadily through the paper. Do not spend too long on one question.
If you cannot answer a question, leave it and attempt the next one.
Return at the end to those you have teft out.

‘This publication may be reproduced enly in sccordance with

o gt ey Turn over
Printer’s Log. No. A :
P4 06 31AO01 20 e

W850M1380/57570 6161713




GCSE Mathematics (Linear) 1380
Formulae: Foundation Tier

You must not write on this formulae page.
Anything you write on this formulae page will gain NO credit.

e g e

Area of trapezium = 4 (a+ b h

/C1OSS
Volume of prism = area of cross section X length
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Leave

blank
Answer ALL TWENTY FIVE questions.
Write your answer's in the spaces provided.
You must write down all stages in your working,
1. {a) Write the number 5076 in words.
Toe Memand and Seventu S
' 1)
(b) Write the number twelve thousand, five hundred and seven in figures.
E“A"" o
\ 2507
(D
(¢} Write the number 72 879 to the nearest thousand.
A3000.
0y
(d) Write down the value of the 7 in the number 5709
@ o1
(Total 4 marks) w_]
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2. (a) Measure the length of the line XV,

X Y

..............................

(b) What type of angle is angle p?

ooooooooooooooooooooooooo

(¢) Measure the size of angle p.

..............................

(Total 4 marks)

.
Leave
blank

3. Complete this table.
Write a sensible unit for each measurement.

Metric Imperial
The weight of a bicycle Kd OALOMS.. pounds
The volume of water in a ~ ,
watering can L\ \(( ey pints
The length of this page centimetres :1‘_‘:[\@(\ e

(Total 3 marks)
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Leave\
4. Tom wrote down the colour of all the cars going past his house in 10 minutes. e
Here are his results.
red blue grey red grey
white white red blue white
red red grey grey red
blue blue red white blue
(2) Complete the frequency table for his results.
Colour Tally Frequency
red M \ A '7
blue WA o
white H [ \ L
s | b
‘ @
(b) On the grid, draw a bar chart to show this information.
81\
7
o=
/.
Frequency j ? ///
3 // ? /{/> ?// |
B RRR
1A g ;/ /
LA A W 2
red blue white grey
Colour
@
(¢) Which colour is the mode?
1 Q4
(Total 5 marks) ’—]
5
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5. (a) Simon throws a fair coin.

On the probability scale, mark with a cross (), the probability that the coin will land

on tails,

{

0

M['—};

{(b) Suresh throws an ordinary 6-sided dice.

1

)

On the probability scale, mark with a cross (X), the probability that she will throw a 7

(V.4

0

o | —

(c) There are three yellow sweets and one blue sweet in a bag.
Gulam takes at random a sweet from the bag.

I

|

1

On the probability scale, mark with a cross (), the probability that he will take a blue

sweet,

f )\/
0

v [ —

1

)

(Total 3 marks)

Leave A
blank

6. Nathan thinks of a number.
He doubles the number.
He adds 5
His answer is 17

What number does Nathan think of?

(Total 3 marks)
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7. Here is a coordinate grid.

(a) Write down the coordinates of the point

@ P
3
(i) R
@
PQRS is a parallelogram.
(b) On the grid, mark with a cross () the fourth cormnet, S, of the parallelogram. e
)

(Total 4 marks)

Leave )
biank
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Leave A
blank

8. Here are five shapes.

WL

IR

(

Two of these shapes have only one line of symmetry.

(a) Write down the letter of each of these two shapes.

Two of these shapes have rotational symmetry of order 2

(b) Write down the letter of each of these two shapes.

(Total 4 marks) —]

9. Sherri says
“If you multiply an odd number by 7 and take away 2 you always get a prime number”,

Show that Sherri is wrong.

Q9
(Total 2 marks) j
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Leave\
biank
10. (a) Simplify a+a+a+ta
........ DB
(1
(b) Simplify 3a+5b-a+2b
@
(c) Solve 3% =
bAL g
#3( s u> > S
ey
(d) Solve y—7=5
w7
7 ( U= V2 y= \2 ..................
@
(&) Solve 2+ 8= 3) '
(Qk -3 f=nm$LZ:fbmm"
=1 y S:, - (2 Q10
(Total 7 marks) —]

11.

Here are the first seven terms in a number scqucnce

N AN f""’\

6 5 8 TR
¥3 -1 43 -1 43 - \

(a) Write down the next two terms in this number sequence.

.......... SR .

3

@)
Here are the first five terms in a different number sequence.
TN T TS N
5 9 13 17 21
b dwe bl 41
(b) Find the 10th term in this number sequence.
m [ |
25 2922 37 Ly e

{¢) Write an expression, in terms of », for the nth term of this number sequence.

@)
(Total 6 marks)

Q11

i

t
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12. Mel buys
2 pens costing 55p each
4 pencils costing 28p each
a calculator costing £4.95

Mel pays with a £10 note,

Work out how much change she should get.

7_><(O"55 ot \D\O
Ly »O 2% = \.12
| et AS =00

s A

707

£ 2?%\{%

(Total 4 marks)

Leave \
blank

13. P=20+2w

(a) Work out the value of P when /=6 and w=4

P-Q *Q'fl@”lﬂ

= Ly %
- ZQ = LT (2)

(b) Work out the value of / when P =24 and w=13

20 = 2L v(2x3)

)3‘: 2 (2)

(Total 4 marks)

Q13
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14. The map shows the temperatures in some cities one night last winter.

Aberdeen —-9°C

Dublin —5°C

London 7°C
Cardiff 4°C

Exeter 6°C

(a) Write down the name of the city with the highest temperature.

London..
1)

(b) Write down the name of the city with the lowest temperature.

Ploesdeon

)

(c) Work out the difference in temperature between Cardiff and Exeter.

-------------------------------

(d) Two cities have a difference in temperature of 4°C.
Write down the names of these cities.

Phoec Atas... and . SIABLIA.
(1

(Total 4 marks)

“
Leave
blank

Q14

O

11

Turn over




15. A rugby team played six games.
Here is the number of points they scored in each game.

24 8 18 6 12 19

(a) Work out the median score for these six games.

c % 12 & Lk
4

[
-
R L R

2 @

(b) Work out the mean score for these six games.

6
2

‘¢ BT 6= WS

V%
4 L. S

.....................................

2,\# @

e

wa; mgby team played one more game.
The mean score for all seven games is 16

(c) Work out the number of points the team scored in the seventh game.

165 7= 1172

112 =87 =25

(Total 6 marks)

Leave A
blank

Q15
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Leave1
blank
16.
Diagram NOT
accurately drawn
140"——-I
x
(1) Work out the size of the angle marked x.
l 40 260
L\ Q- ~130
2:3 29 120 ‘3© ..................
(ii) Give a reason for your answer,
AN A ¥ iAo .‘;v:w\s*:f.x.f’....efzx G ua@\’a) ...........
........... A S 1

(Total 3 marks)

17. Minnie invested £250 for 3 years at 4% simple interest.

Work out the total interest Minnie gets.

?%Q w e = \O
\QO

1O x2 = 20

1‘”) P
T Y. O Q17
(Total 3 marks) fv]
13
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18. Rosie and Jim are going on holiday to the USA.
Jim changes £350 into dollars ($).
The exchange rate is £1 = $1.34

(a) Work out how many dollars ($) Jim gets.

250 x L= LA

o))

In the USA Rosie sces some jeans costing $67

In London the same make of jeans costs £47.50

The exchange rate is still £1 = $1.34

(b) Work out the difference between the cost of the jeans in the USA and in London.
Give your answer in pounds (£).

L7¢ 1.3 =20

) = LT DO T DO

£ 2020

3)

(Total S marks)

Leave )
blank

' LA 00 O
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Leave A
blank

19.

(a) Reflect triangle P in the y-axis.

N\
\

%

N
\\
<
N

@)

7 e
//' {
Wl

N
%& %\x

NN
\

e

AN

Py

11
AN

(b) Draw an enlargement of shape Q scale factor 3

2) Q1
(Total 4 marks) —]
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20. The diagram shows the position of two ports P and @ on a map.

P

(a) Measure the bearing of O from P.

Arock R is on a bearing of 150° from Q
On the map R is 6 ¢ from Q.

(b) Mark the position of R with a cross (x) and label it R,

@)

(Total 3 marks)

Leave )
blank

Q20

V2.5 43,75

3.9-1.7

21, (a) Use your calculator to work out

Write down all the figures on your calculator display.
You must give your answer as a decimal.

..... \ 427398926

(b) Write your answer to part (a) correct to 2 decimal places,

3

..... bbb
)

(Total 4 marks)

Q21

P 4 086 31 A0 1 86 20




22. The equation x* + 3x = 41

has a solution between 3 and 4

Use a frial and improvement method to find this solution.
Give your answer correct to one decimal place.
You must show all your working,

9&:3&%3@,; G

Voo
WH‘A
et L oand

£ e

G TSN D

W W

3 4 (2x3) = 36
W2 r (uxd) = 76
35;53%-?- (2.5:3)253.375
2,33, (3:3x3):h 5B

2 93, (32x3)= L2365
2% (3 \x ) = 3%.04

3.16%) (345x3)= 6P

Lcwo
I SS(\
e S\f\
A %\’\
hion
Lcad

---------------------------

(Total 4 marks)

N
Leave
biank

Q22

N
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A
Leave

blank
23,
Diagram NOT
p accurately drawn
16 cm C
8 cm
Q L R
CA
PQR is aright-angled triangle.
PO =16 cm.
PR=38 cm.
Calculate the length of OR.
Give your answer cortect to 2 decimal places.
2 2.
O?' P = C ON=VIT03
- 2.
cea 8% \6 - \2,860L06U6
2. A
c;:\z’ pes \G" - 3
- VA2
- Ig’gé cm Q23
(Total 3 marks) ~\l
18
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Leave\
blank
24. Riki has a packet of flower seeds.
The table shows each of the probabilities that a seed taken at random will grow into a
flower that is pink or red or blue or yellow.
Colour pink red blue yellow | white
Probability 0.15 0.25 0.20 0.16
(a) Work out the probability that a sced taken at random will grow info a white flower.
G.25 ¢
_ o/
S IAS -
o6 (.2 W
O.76
2)
There are 300 seeds in the packet.
All of the seeds grow into flowers.
(b) Work out an estimate for the number of red flowers.
200 «O2D = 75
2) Q24
(Total 4 marks) _]
.

O
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25, Caleb measured the heights of 30 plants.

The table gives some information about the heights, /# cm, of the plants.

Height (i cm) of plants | Frequeney | M poie ;ffie\ﬁﬁa
0<h< 10 2 =y o)
10 <4 < 20 8 \S 26
20 <h < 30 9 24 194
30 </ < 40 7 £NC) 2LS
40 < h < 50 R \8G
20 720 |

Work out an estimate for the mean height of a plant,

780 2 20 =26

2 R

(Total 4 marks)

Leave )
blank

Q25

5

TOTAL FOR PAPER: 100 MARKS
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